Joe Fetsch Code Writeup Quarter 2

Basic world model in Python for Tech Lab project

Goals and Basics of program:

Agents can move (not far though) around a world

World is of average size and agents represented by small circles with colors for status


different for each form of smallpox, healthy, infected (Prodromal stage), immune

agents may move to a new location if confronted by a large number of infected or tempted by other causes


artificial intelligence - self-preservation

cities will have greater numbers of people and higher chance to infected

 agents can get sick if close to infected agents – more likely as they get closer

six steps = one day - allows for greater movement range over time

implement method to show %s of people under each statistic in graph - done

use existing feature of detailing the agents and location to do same - infection, date of infection, stage, etc - done

movement range is 1

eventually change way array of agents works so place in array = coordinates - done


should make coding much shorter and more efficient

infected agents avoid people

move the agent to the new spot - some way to influence movement - make sure to put emphasis on influenced coordinate

Focus for 3rd Quarter:

Quarantine method: research was done to determine if a certain time of quarantine is more likely, though, because of the lack of data available and the simple fact that this has never happened in the United States or in a large city, there is absolutely no precedent to determine when a quarantine would begin.  Therefore, the time at which a quarantine begins corresponds to whenever the user presses the button on the social representation.  This ends all movement, isolating the agents from each other.  Infection rates drop to zero for all agents in all situations, as each agent is now under strict quarantine.

In the graph representation of agents over time, a red line appears and can now scroll along with the rest of the graph.

Now, upon exit of the program, the statistics at that time are displayed, ending much confusion about the situation when a mistaken exit is made.


def quarantine():


global qcondition, time,qtime,idarray


if not qcondition:



print 'Quarantine measures in effect at time =',int(time/6),'days after attack'



qtime=time



qcondition=True

idarray=[]  # this keeps track of the buttons (1,3 are vaccine, 2,4 are not)

def click(evnt):


global agents


v=evnt.x


w=evnt.y


v=v/dx


w=w/dy


if v<len(agents) and w<len(agents):



if  isinstance(agents[v][w],Agent):




if agents[v][w].coords==(v,w):





agents[v][w].printself()



else:




print 'no agent at location',v,w


elif w>len(agents)+2:



if v>x/5 and v<2*x/5: 




vaccine()




canvas.itemconfigure(idarray[0],state=DISABLED)




canvas.itemconfigure(idarray[0],fill='black')




#canvas.itemconfigure(idarray[2],state=DISABLED)



elif v>3*x/5 and v<4*x/5:




quarantine()




canvas.itemconfigure(idarray[1],state=DISABLED)




canvas.itemconfigure(idarray[1],fill='black')




#canvas.itemconfigure(idarray[3],state=DISABLED)

def quit(evnt):


print 'agents \thealthy \tcarriers \tinfected \timmune \tdead'


print numofagents,'\t','\t',numofhealthies,'\t','\t',numofcarriers,'\t','\t',numofinfected,'\t','\t',numofimmune,'\t','\t',numdead


exit(0)

idarray.append(canvas.create_rectangle(1*x/5*dx,h+3,2*x/5*dx,h+3+50, fill = 'dark green', disabledfill= 'black'))

idarray.append(canvas.create_rectangle(3*x/5*dx,h+3,4*x/5*dx,h+3+50, fill = 'dark red', disabledfill= 'black'))

idarray.append(canvas.create_text(3*x/1webapps/portal/frameset.jsp0*dx,h+3+20,fill = 'white',text='Vaccine',disabledfill='gray'))

idarray.append(canvas.create_text(7*x/10*dx,h+3+20,fill = 'white',text='Quarantine',disabledfill='gray'))


if time<800:



if vcondition:




canvas2.create_line(vtime,0,vtime,agentnum,fill='green')



if qcondition:




canvas2.create_line(qtime,0,qtime,agentnum,fill='red')


else:



if vcondition:




canvas2.create_line(800-time+vtime,0,800-time+vtime,agentnum,fill='green')



if qcondition:




canvas2.create_line(800-time+qtime,0,800-time+qtime,agentnum,fill='red')

